A-A Wi S=1/100

HAak 7L — A

?, —~ 0w N o
F E 200 ggpg 200 ymg0 200 yagy 200 yagy 200 g 200 00 200 00 20 77:/9_71“—A H250 X W200 %{Eﬁl“b 1500E ‘ya:
i | R ¢ 7
oo — [1 ] 11 i ) i ) o 1 E——
I L LA
SRS

250

1700

4

250

TUh—Ey s
- EWAM 2.0 50X50 D10 L=400 S
EAE TR AF(=30) e _ = N
I VR PR D16 L=750 &
Q
S =1/100 &
TUh—Ev
D16 (=750 D10 1=400
45,200 ‘
S
= _ QQ C{?
100 _ 1500 _.,_ 1500 _._ 1500 _, . 1500 _._ 1500 _. _ 1500 _. . 1500 100 )
R
&
| $
(=1
S cl B S
3 . b $
) XK RN | &
N/
g o &
S R o~ ~
= S = LA LTI )
—_— o
Lo
SR [ <
- §§§§§§§§§§§§?:‘~: RIS -
E S &
- <
3
= ‘
08 ~/
s w©
3 S
- - - Rk =y hEw A% T — S fikm =y M AE T H—
g ) Lo ¢ 13 L=400 (7230) v 6 13 L=400 (7v230)
Q D—— N |
N S
= s S 1,000nf 249
a0 KKk Fhe | HAL WL
2 2.0
S FAPEDT. 1,000 nf
= s ] ~ g — o, K — o
= = *E;Fﬂa;"‘/]\[jﬁﬁ‘ﬁ S=1/10 =k H=220 3051 108 X (1,000/1,026.04 sona | g |#FACLI0
2 1 _ A13-B17 h > ’ e : " | v eBL=1,700)
Lo
r O
o — L T i =k
W=y PED AT 7 [tk (3051 X 10 X 24 X (1,000/1,026.04) 584.8 | A& HDZ 35
% © ¢ 13 L=400 (72730) (797 30) L=400
L ™
l o TTH=T5 =5 H250XW200 | (3151 X 5B X 4.3m+641 X 45.2m) X (1,000/1,026.04) | 914.0 | m
(=}
N
= HiLE ﬁ D16
HEA BRI (1=30) T LAy 3151 < 16 < 145X (1,000/1,026.04) 4835 | A
WA PN TH—E T = — A L=750
RADKGN e D10 L=400 D16 L=750 THAEFER AT (t=30) D10
$2.0 50X50 RN T 3051 <68 < 24X (1,000/1,026.04) 350.9 [ A
Hidk =y MED AV T T — ESinas L7400
FI =T —h B = INT 7
‘ = T @ ]
613 L=100 (7>730) B i D13 (3141] X 22.Tm+6 % X 45.2m) X 44 X 0.995kg/m 3,781.7| ke
*E?ﬁﬁi:/]\ (AlB‘Bl?) S=1/10 i % (1,000/1,026.04)
1300 A (== e (BB 45.2m <005 43151 < 5B < 43mx0.050D) | |
LT AN = JLA) 45.
‘ 24 ¢ 2.0 50X50 % (1,000/1,026.04) "
i (3041 X 108 X 1.3m X 1.275m+3051 X 58t X 1.3m o X B
He X 1.25m)<(1,000/1,026.04) | 22 [ =30
S e _ A SR
%{q‘ej’*+li:ﬁﬁ S - 1/10 ‘ 3051 X 108% < (0.25m X 0.22m/2) X 1.3m . , =504t
> el B ML= X(1,000/1,026.04)=10.453m’| 209.1 | nf )
S TIH =T h A 10.453m° = 0.05m Afid 1:0.5
iy D13 200
#K)i5 D1 ‘ ‘ R R TR 3051 21.5m X 1.3m % (1,000/1,026.04) 817.3 |t |vosworinm

S
THAEFERT IR AT (£=30)

AN ¢2.0 50X50




